
POLE MOUNT ASSY- GEN-X SERIES
PN (421-0067-00)

SHEET 3

CORNER MOUNT ASSY- GEN-X SERIES
PN (421-0066-00)

SHEET 4

WALL MOUNT ASSY- GEN-X SERIES
SHEET 3

PENDANT MOUNT KIT - GEN-X SERIES
PN (421-0069-00)

SHEET 3/6

PENDANT MOUNT KIT - GEN-X SERIES
PN (421-0069-00)

POLE MOUNT KIT - GEN-X SERIES
PN (421-0067-00)

SHEET 6

PENDANT MOUNT KIT - GEN-X SERIES
PN (421-0069-00)

CORNER MOUNT KIT - GEN-X SERIES
PN (421-0066-00)

SHEET 6

2 134567

DWG NO. SH REV427-0100-0X-28 1

8

8 7 6 5 4 3 1

A A

B

C

D

C

D

 GRAMS   

 
Mounting Accessories Drawing
Saros Security Camera Family

064Y2D

SEE NOTE 1

SEE NOTE 2

1:4 1            6

INTERPRET DRAWING 
PER ASME Y14.5M-1994

----------------------------------------------
UNLESS OTHERWISE SPECIFIED

SURFACE ROUGHNESS 0.8
.X  = .25
.XX = .13

ANGULAR = .5
FILLET RADII = .13 MAX

DWG NO. REV

SHEET            OF

PROJECT NO.

DATEAPPROVALS

DWN

CHK

DSGN

PRINTED:SCALE

CAGESIZE

TITLE

FLIR Systems, Inc.
6769 Hollister Ave
Goleta, CA 93117

ENG

APP
CALC WT:

UNLESS OTHERWISE SPECIFIED ALL
MEASUREMENTS ARE IN MM.

ALL DIMENSIONS IN [ ] ARE INCHES.
DO NOT SCALE DRAWING.

FINISH

MATERIAL

 2/22/2017

  

THIRD ANGLE PROJECTION

 

  

  

10/18/2018
SOLIDWORKS MODEL: 427-0100-0X-28 SAROS MOUNTING ACCESSORIES

1
REV

SH
DW

G NO.

MODEL REVISION:

METRIC

THIS DOCUMENT IS CONTROLLED TO FLIR TECHNOLOGY LEVEL 2.  THE INFORMATION CONTAINED IN THIS
DOCUMENT PERTAINS TO A DUAL USE PRODUCT CONTROLLED FOR EXPORT BY THE EXPORT ADMINISTRATION
REGULATIONS (EAR).  DIVERSION CONTRARY TO US LAW IS PROHIBITED.  US DEPARTMENT OF COMMERCE
AUTHORIZATION IS NOT REQUIRED PRIOR TO EXPORT OR TRANSFER TO FOREIGN PERSONS OR PARTIES UNLESS
OTHERWISE PROHIBITED.

PROPRIETARY - FLIR SYSTEMS, INC.
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION TO FLIR SYSTEMS, INC.  THIS INFORMATION MUST BE
MAINTAINED IN CONFIDENCE AND USED ONLY IN A MANNER CONSISTENT WITH THE DOCUMENTATION AND ANY 
EXECUTED NON DISCLOSURE AGREEMENT,  AND MAY NOT BE DISCLOSED TO ANY THIRD PERSON WITHOUT 
FLIR'S WRITTEN CONSENT.

427-0100-0X-28

427-0100-0X-28



STEP 2

ASSEMBLY STEPS:

UNSCREW CAPTIVE FASTENER AND 1.
REMOVE EYELID
UNSCREW CAMERA LOCKING RING  2.
RELEASE 1/4 TURN FASTENERS FROM 3.
EDGE OF BACK BOX AND PULL PIECES 
APART

DETAIL VIEW OF MOUNTING BACK PLATE
PN: 261-2795-00

ALL SUBSEQUENT MOUNTING ACCESORIES 
MOUNT USING HOLE PATTERN C

NOTE:

ALL SHOWN FASTENERS 
IN STEPS 1/3 ARE 
CAPTIVE. THEY DO NOT 
LEAVE SURFACE. 
SHOWN PROJECTED 
FOR REFERENCE ONLY. 

STEP 3

STEP 1

2 134567

DWG NO. SH REV427-0100-0X-00 2

8

8 7 6 5 4 3 1

A A

B

C

D

C

D

Mounting Backplate Access Instructions
Saros Security Camera Family

064Y2D
1:1 2           6

PIECE PART. REV

SHEET            OFPRINTED:SCALE

CAGESIZE 427-0100-0X-00
10/18/2018

SOLIDWORKS MODEL: 427-0100-0X-28 SAROS MOUNTING ACCESSORIES
MODEL REVISON:

DW
G NO.

SH
REV

2 
427-0100-0X-00

METRIC

THIS DOCUMENT IS CONTROLLED TO FLIR TECHNOLOGY LEVEL 2.  THE INFORMATION CONTAINED IN THIS
DOCUMENT PERTAINS TO A DUAL USE PRODUCT CONTROLLED FOR EXPORT BY THE EXPORT 
ADMINISTRATION REGULATIONS (EAR).  DIVERSION CONTRARY TO US LAW IS PROHIBITED.
US DEPARTMENT OF COMMERCE AUTHORIZATION IS NOT REQUIRED PRIOR TO EXPORT OR TRANSFER TO 
FOREIGN PERSONS OR PARTIES UNLESS OTHERWISE PROHIBITED.

PROPRIETARY - FLIR SYSTEMS, INC.

FLIR Systems, Inc.
6769 Hollister Ave.
Goleta, CA 93117



HARDWARE TO ATTACH TO 
STRUCTURE SUPPLIED BY CUSTOMER

CAMERA BACK MOUNTING PLATE 
SHOWN FOR ASSEMBLY REFERENCE 
ONLY; MOUNTING PLATE INCLUDED 
WITH CAMERA (SEE SHEET 2)

DOUBLE GANG JUNCTION BOX 
OPTION SHOWN AS EXAMPLE

SEE NOTE 2

DIRECT MOUNT TO WALL OPTION

2X 165.00
6.496

2X 108.00
4.252

4X 10.00 0.394  THRU

PENDANT ARM MOUNT TO WALL OPTION

FOR PENDANT MOUNT SHROUD AND ARM DETAILS 
SEE SHEET 6

HARDWARE TO ATTACH 
TO STRUCTURE SUPPLIED 
BY CUSTOMER

NOTES: UNLESS OTHERWISE SPECIFIED

THIS SHEET ONLY PROVIDESINSTRUCTIONS FOR DIRECT CAMERA 1.
MOUNTING. NO MOUNT KIT INCLUDED

GEN-X SECURITY CAMERA HAS POSSIBILITY TO MOUNT DIRECTLY TO:2.

SINGLE GANG JUNCTION BOX1.

DOUBLE GANG JUNCTION BOX2.

4" ROUND BOX3.

4" SQUARE BOX4.

DIRECTLY TO WALL5.

STRUCTURE MATERIAL VARIES 
WITH INSTALLATON

CAMERA PRODUCTS SHOWN 
FOR REFERENCE ONLY

2 134567

DWG NO. SH REVN/A 3

8

8 7 6 5 4 3 1

A A

B

C

D

C

D

Wall Mounting Options
Saros Security Camera Family

064Y2D
1:2 3           6

PIECE PART. REV

SHEET            OFPRINTED:SCALE

CAGESIZE N/A
10/18/2018

SOLIDWORKS MODEL: 427-0100-0X-28 SAROS MOUNTING ACCESSORIES
MODEL REVISON:

DW
G NO.

SH
REV

3 
N

/A

METRIC

THIS DOCUMENT IS CONTROLLED TO FLIR TECHNOLOGY LEVEL 2.  THE INFORMATION CONTAINED IN THIS
DOCUMENT PERTAINS TO A DUAL USE PRODUCT CONTROLLED FOR EXPORT BY THE EXPORT 
ADMINISTRATION REGULATIONS (EAR).  DIVERSION CONTRARY TO US LAW IS PROHIBITED.
US DEPARTMENT OF COMMERCE AUTHORIZATION IS NOT REQUIRED PRIOR TO EXPORT OR TRANSFER TO 
FOREIGN PERSONS OR PARTIES UNLESS OTHERWISE PROHIBITED.

PROPRIETARY - FLIR SYSTEMS, INC.

FLIR Systems, Inc.
6769 Hollister Ave.
Goleta, CA 93117



STRUCTURE MATERIAL VARIES 
WITH INSTALLATON

CAMERA PRODUCT SHOWN 
FOR REFERENCE ONLY

CAMERA BACK MOUNTING PLATE 
SHOWN FOR ASSEMBLY REFERENCE 
ONLY; MOUNTING PLATE INCLUDED WITH 
CAMERA (SEE SHEET 2), NOT WITH POLE 
MOUNT KIT

1
1

1
1

1
1

 165.00
6.496

 

 108.00
4.252

 

 62.86
2.475

 

 62.86
2.475

 
R35.00 1.378  THRU

4X M8 PEM NUT INSTALLED FAR SIDE

4X M4 PEM NUT INSTALLED FAR SIDE

2X 17.00 0.669  X 37.00 1.457

 
0

0.
00

0
 

 
43

.0
0

1.
69

3
 

 
60

.0
0

2.
36

2
 

 
65

.0
0

2.
55

9
 

 0
0.000

 

 44.00
1.732

 

 64.00
2.520

 

 134.00
5.276

 

 154.00
6.063

 

 193.00
7.598

 

 198.00
7.795

 

 5.00
0.197

 

 0
0.000

 

 14.71
0.579

 

 35.00
1.378

 

NOTES: UNLESS OTHERWISE SPECIFIED
POLE ADAPTER ACCOMMODATES 150-230mm [6.0-9.0IN] POLE1.

HARDWARE (BOM ITEMS 1) INCLUDED IS ENOUGH TO ATTACH A SINGLE GEN 2.
X SERIES CAMERA).  POLE ADAPTER ASSY DOES NOT ALLOW FOR ATTACHING 
TWO (OR MORE) CAMERAS AT THE SAME TIME.

GEN-X POLE MOUNT KIT ITEM LIST

4X M4x0.7x12 Socket FCHS  1.

2X BAND CLAMP2.

1X POLE MOUNT PLATE 261-2865-003.

4X M8x1.25x22 SCHS  4.

4X M8 FLAT WAHSER5.

QTY. PART NUMBER DESCRIPTION ITEM

1 421-0067-00 POLE MOUNT KIT 1

2 134567

DWG NO. SH REV421-0067-00 4

8

8 7 6 5 4 3 1

A A

B

C

D

C

D

Pole Mount Kit
Saros Security Camera Family

064Y2D
1:2 4           6

PIECE PART. REV

SHEET            OFPRINTED:SCALE

CAGESIZE 421-0067-00
10/18/2018

SOLIDWORKS MODEL: 427-0100-0X-28 SAROS MOUNTING ACCESSORIES
MODEL REVISON:

DW
G NO.

SH
REV

4 
421-0067-00

METRIC

THIS DOCUMENT IS CONTROLLED TO FLIR TECHNOLOGY LEVEL 2.  THE INFORMATION CONTAINED IN THIS
DOCUMENT PERTAINS TO A DUAL USE PRODUCT CONTROLLED FOR EXPORT BY THE EXPORT 
ADMINISTRATION REGULATIONS (EAR).  DIVERSION CONTRARY TO US LAW IS PROHIBITED.
US DEPARTMENT OF COMMERCE AUTHORIZATION IS NOT REQUIRED PRIOR TO EXPORT OR TRANSFER TO 
FOREIGN PERSONS OR PARTIES UNLESS OTHERWISE PROHIBITED.

PROPRIETARY - FLIR SYSTEMS, INC.

FLIR Systems, Inc.
6769 Hollister Ave.
Goleta, CA 93117



CAMERA PRODUCT SHOWN 
FOR REFERENCE ONLY

STRUCTURE MATERIAL VARIES 
WITH INSTALLATON

CAMERA BACK MOUNTING PLATE 
SHOWN FOR ASSEMBLY REFERENCE 
ONLY; MOUNTING PLATE INCLUDED 
WITH CAMERA (SEE SHEET 2), NOT 
WITH CORNER MOUNT KIT

1
1

1
1

 165.00
6.496

  62.86
2.475

 

 108.00
4.252

 

 62.86
2.475

 

R35.00 1.378  THRU

4X M8 PEM NUT INSTALLED FAR SIDE

4X M4 PEM NUT INSTALLED FAR SIDE

 180.00
7.087

 

 90.00° 

 98.23
3.867

 

 58.23
2.293

 

D

D

 
00.000   30.001.181   80.003.150  

 130.005.118  
 180.007.087  

VIEW D-D

GEN-X CORNER MOUNT KIT ITEM LIST

4X M4x0.7x12 Socket FCHS  1.

1X CORNER MOUNT PLATE 261-2864-002.

4X M8x1.25x22 SCHS  3.

4X M8 FLAT WAHSER4.

BOTH 45  FLANGES HAVE IDENTICAL DIMENSIONS

NOTES: UNLESS OTHERWISE SPECIFIED

HARDWARE (BOM ITEMS 1) INCLUDED IS ENOUGH TO ATTACH A 1.
SINGLE GEN X SERIES CAMERA).  CORNER ADAPTER ASSY DOES 
NOT ALLOW FOR ATTACHING TWO (OR MORE) CAMERAS AT THE 
SAME TIME.

8X HARDWARE TO ATTACH TO 
STRUCTURE SUPPLIED BY CUSTOMER

QTY. PART NUMBER DESCRIPTION ITEM

1 421-0066-00 CORNER MOUNT KIT 1

2 134567

DWG NO. SH REV421-0066-00 5

8

8 7 6 5 4 3 1

A A

B

C

D

C

D

Corner Mount Kit
Saros Security Camera Family

064Y2D
1:2 5           6

PIECE PART. REV

SHEET            OFPRINTED:SCALE

CAGESIZE 421-0066-00
10/18/2018

SOLIDWORKS MODEL: 427-0100-0X-28 SAROS MOUNTING ACCESSORIES
MODEL REVISON:

DW
G NO.

SH
REV

5 
421-0066-00

METRIC

THIS DOCUMENT IS CONTROLLED TO FLIR TECHNOLOGY LEVEL 2.  THE INFORMATION CONTAINED IN THIS
DOCUMENT PERTAINS TO A DUAL USE PRODUCT CONTROLLED FOR EXPORT BY THE EXPORT 
ADMINISTRATION REGULATIONS (EAR).  DIVERSION CONTRARY TO US LAW IS PROHIBITED.
US DEPARTMENT OF COMMERCE AUTHORIZATION IS NOT REQUIRED PRIOR TO EXPORT OR TRANSFER TO 
FOREIGN PERSONS OR PARTIES UNLESS OTHERWISE PROHIBITED.

PROPRIETARY - FLIR SYSTEMS, INC.

FLIR Systems, Inc.
6769 Hollister Ave.
Goleta, CA 93117



CAMERA BACK MOUNTING 
PLATE SHOWN FOR 
ASSEMBLY REFERENCE 
ONLY; MOUNTING PLATE 
INCLUDED WITH CAMERA 
(SEE SHEET 2), NOT WITH 
PENDANT MOUNT SHROUD 
KIT

4x
10mm THRU

1-1/2" NPT THREADED 
ATTACHMENT

1
1

1
1

1
1

NON-CENTERED HOLE PATTERN.
ORIENTATION MATTERS

CORNER MOUNT USED AS EXAMPLE.

4X M8 SCREWS 
SUPPLIED WITH POLE 
AND CORNER 
MOUNT KITS

HOLE PATTERN AVAILABLE 
ON SHEETS 3 & 4

NOTES: UNLESS OTHERWISE SPECIFIED

HARDWARE (BOM ITEMS 1) INCLUDED IS ENOUGH TO ATTACH A 1.
SINGLE GEN X SERIES CAMERA).  PENDANT MOUNT SHROUD KIT 
DOES NOT ALLOW FOR ATTACHING TWO (OR MORE) CAMERAS 
AT THE SAME TIME.

SANS ARM OPTION AVAILABLE2.
PENDANT MOUNT SHROUD KIT (PN: 421-0068-00)
SOLD WITHOUT PENDANT MOUNT ARM (PN: CX-ARMX-G3)

GEN-X PENDANT  MOUNT KIT ITEM LIST

4X M4x0.7x12 SOCKET FCHS  1.

1X PENDANT MOUNT SHROUD PN: 261-2866-002.

1X PENDANT MOUNT ARM PN: CX-ARMX-G33.

CAMERA PRODUCT SHOWN FOR 
REFERENCE ONLY

STRUCTURE MATERIAL VARIES WITH 
INSTALLATON

PENDANT ARM IS ABLE TO 
ATTACH TO:

DIRECLY TO WALL1.
SEE SHEET 5

GEN-X CORNER MOUNT KIT 2.
PN: 421-0066-00 
SEE SHEET 4

GEN-X POLE MOUNT KIT 3.
PN: 421-0067-00
SEE SHEET 3

QTY. PART NUMBER DESCRIPTION ITEM

1 421-0069-00 PENDANT MOUNT KIT 1

2 134567

DWG NO. SH REV421-0069-00 6

8

8 7 6 5 4 3 1

A A

B

C

D

C

D

Pendant Mount Kit
Saros Security Camera Family

064Y2D
1:2 6           6

PIECE PART. REV

SHEET            OFPRINTED:SCALE

CAGESIZE 421-0069-00
10/18/2018

SOLIDWORKS MODEL: 427-0100-0X-28 SAROS MOUNTING ACCESSORIES
MODEL REVISON:

DW
G NO.

SH
REV

6 
421-0069-00

METRIC

THIS DOCUMENT IS CONTROLLED TO FLIR TECHNOLOGY LEVEL 2.  THE INFORMATION CONTAINED IN THIS
DOCUMENT PERTAINS TO A DUAL USE PRODUCT CONTROLLED FOR EXPORT BY THE EXPORT 
ADMINISTRATION REGULATIONS (EAR).  DIVERSION CONTRARY TO US LAW IS PROHIBITED.
US DEPARTMENT OF COMMERCE AUTHORIZATION IS NOT REQUIRED PRIOR TO EXPORT OR TRANSFER TO 
FOREIGN PERSONS OR PARTIES UNLESS OTHERWISE PROHIBITED.

PROPRIETARY - FLIR SYSTEMS, INC.

FLIR Systems, Inc.
6769 Hollister Ave.
Goleta, CA 93117


	Overall Assemblies
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View37
	Drawing View38

	Camera Assembly
	Drawing View10
	Drawing View26

	Direct Mounting Options
	Drawing View32
	Drawing View35
	Drawing View46
	Drawing View48

	Pole Mount
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View49
	Drawing View51

	Corner Mount
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31

	Pendant Arm
	Drawing View39
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45




